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Mathematics (Science Group)  Paper: I (ﬁiﬂ{ I JF kL) 122+111) Iz¢ (g:/u‘“' v) U‘ (%,
Time: 20 Minutes Group: I Objective (53> nr!flf:; L 20 =
Marks: 15 " Code:5195 &Gu/ Joby 1.2y 15: /%
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Jb L..‘J;Z Sy e i s 2’:41_.; & Ldb’/z { Q({}’ﬁ

.,q;e’f{_,: DsCeB:« Aal,‘ﬁ.'f/‘[} Ly ad

G s 7 0l cw§ LSS ul VS sl ekl LB S il SN S oo Sl

1- 1hectare ~ acres
35 (D) 2.5 (C)
2 2
2- % -2+ lz_ -
y X
2 2
-y 2y
[ Xy ) & ( Xy J ©
3- altitudes of an isosceles triangle are congruent.

four /L’ (D)
4- Proportion-is equality of
five & (D)

three & (C)
ratios. '
four J& (C)

5- A(AdjA) =

(detA) I (D) A.1T (C)

6- The right bisectors of congruent sides of an isosceles
triangle and its altitudes are

concurrent L34 (D)  non concurrent ﬂﬂ/{ ©)

7- Number of right angles in a triangle can be

4 (D) 1 (©)
8- The squarerootof 32 — 24 4 1 is
t(a+2) () *@-2) (©
9- log10 e ~
0.423 (D) 0.4343 (C)
10- X = 0 is asolution of the inequality
Xx—-2<0 (D) X+2 <0 (C)
11- Mid-point of the points (2, -2) and (-2,2)is_____
(-2,-2) (D) 1 (2,2) (C)
12- Symbol used for "therefore" is
) ©)

13- Medians of a triangle are
concurrent  &i% (B)

equal 4 (D)
2 2
14- fl_:,_b__ =
a+b
(a+b)> (D) a+b (C)
1
16
-4 -5
S 0O > ©

10-(111)-122-105000

£ ~ 11

36 (B) 26 (A)
2 2
-2+ L 2
y X -
2 2
x2-y2 x2+y2
5 | ® 5 | ®

gLt LalbAugls _3
two s (B) one I (A)
LA Ly
three £ (B) wo » (A)
| A(AdjA) = 5
detA+I (B) detA, A" (A)
sl oot Lol flo S Uigo- _6
_ _UELM____CULI
congruent S (B) equal sz (A)
o oL S gl 26 Ut e (s 7

-4

2 (B) 3 (A
- EAuie € a2 24 4+ 1 -8
t(a+1) (B) t(@a-1) ¢
log, e = -9
0.4545 (B) 04646 (A)
-‘Lc/jl{qd’ﬁ ehblef X =0 .10
3x+5<0 (B) x>0 (A
e B Ben € (-2,2) 4 2, -2) b5 11
(1.1 (B) 0,00 (A)
el ey A LR 12
1 (B) = @A
Yl Sy Lads 13
nonconcurrent &i4¢ (A)
congruent fi= (C)
a2—b? o 4
a+b -
(a-b)* (B) a-b (A
25 —%
L
4 5
5 (B) 4 (A)
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Time: 2:10 Hours Group: I ' w;fﬂ‘( & 210:
Marks: 60 ‘ Subjective (}1 " 60 : U4
W @) I AN it g faty Q) e L oag i its LS
SectionI Jiloo ‘ : - _
2- Write short answers to any’SIX questions: ’ 2x6=12) o -é{i@&iﬁ/ﬁ&mﬂﬂgc—af -2
i- Define square matrix. c’ )] ] SN, i
N D -%a.t L],
-1 A= i , then verify that (A=A AYl=A JZ£3F In A= 0 1_/7, <l
ii- Simplify:  4/g1y~12 x~8 -éﬂ"/ 4,/81y—12 x~3 i
iv- Simplify (43 = 3;‘)2 and write answer in the form of a+ bi ZZ L PS arbi S (1/3 3 31')2 ~iv
1 ° 1 - 1
v- Evaluate ?ng =k . . , ,é‘_.’r,wy N log, 28 v
vi- Calculate log§ x log, 81 _ ‘ ip“‘uf J log3 x log,81 _vi
vii- Simplity 2 (65 - 3v/5) a , -é/‘f 2(6\/_ 3J5) il
vili- Express % 3128 in the simplest form. : R Jﬂ/ ,v’f 3 Y28 i

- Factorze 3x2—75y°

-édz’J 3x2-75y% -ix

3- Write short answers tb ahy SIX qué_stions: : (2x6=12) ] _gt.: .:.mx(s)g c:_..éf «3
.- Find H.C.F of the following by factorization: : e DRI
x2+5x+6, x’-4x-12 ) x2+5x+6 x’z'——4x 12
" 2 1 1 A 1 !
ii- Solve the equauon A =X = X +— ' _5,.’ [ —-X—-—-x = x+ edls . il
| 3% 2 6 , ‘f 2. e
iii- Define absolute value. - oo -.__u/" i u’b il
iv- Find the value of ‘m' and '’ of the following lines by "ol Lg_/}uut y=mx /:J;L»u{j) -iv
expressing them in the form of y=mX+¢ 2x+3y ~1= 0 éfer’u"J S
2x+3y~-1=0
v- Define abcissa and ordinate! \ é..d_}’ J ._.»5/{,,4 Vrsﬂ v
vi- Find mid-point of A(-8, 1) and B(, 1) o _ zfr}’w R ( i
vii- Define isosceles triangle. A -ef..»/d’ ..Jhﬁwd,u Vil
viii- State S:AS postulate. B ¥ S i
ix- If LMNP is parallelogram find the values of 'm' and 'n' o s'md <.t,wmdﬂruf LMNP /i _ix
' P £ b i
4m+n
3 55, ;b
; F Bm-4n o .
- 4- Write short answers to.any SIX questions: ' (2x6=12) o -i (f@&@kj?éam,’(ﬁ)n; c:.&f o |
i- In given diagram CD is right bisector of the line ) ﬁ.{._dft Ef ¥ AB 145 CD 2L -
segment AB. ¥ mAB=6cm thenfind mAL mLB # mAL 7« niAB=6cm
‘and mLB K o -
At |
: : D :
ji- If two angles of a triangle are 90° and 60°, then Fus 90° 1 60° Lsts Lk Sl i
what will be the value of third angle? : tWn s Sesic &

(2‘1'&/3)



I5|

(V8]

mAD 3
mDB 5
-éf#dUJ mAE 7 mAC=48cm

! /i DE||BC # AABC -ii

ii- In AABC. DE||BC if —== % and

mAC=48cm, find mAE

N - .
B C P * - 2
iv- Define ratio. ’ ) il Tv' v
v- Find the value of x in the given triangle: :2"‘;’(')” ed | x P I0 dH v
70 i

5 NG

o
vi- Define interior of a triangle. X LIS Lake i

vii- Define area of a fi igure. 2N [_J’éu/ _vii

viii- Construct a right a ' 'ied'isosceles triangle whose bk F L AN L _viii

hypotenuse is 5 2_ C ong. (52 du d/ 73 J J
ix- Constuct a trtangle ABC in which VUSE b ABC & _ix

mAB 3.2cm, mBC=42cm and mCA =5.2 cm
(ur/ 4 L7 A8LJr ) Sectionll ¢n o

(a) Solve by usmg the matnx inversion method 2 F s Sus Zude (L) -5
T 3x-4y =4
x+2y = 8
f %
PP (. Pk (216) X (25
(b) - Simplify -é/"' y (O 04) é (v)
(a) Use Iog'arithr'ﬁ'tio find the value of (438)3 X m -Z:r}".dx’c;.u J J’*"I/ b’:’J (438) < \/_056 N -6
' (388)° (388)*
(b) If x+y=7 and gy= 12, then find the S x3+y3 In xy=12.4 x+y=7 (<)
value of x3 + y3 { o o
(a) For what value of 'm is the polynomial JJ / (x+2) c[,_f ut" J (,( m' Jz éfr:‘” (W -7
P(x) = 4x3-7x%+6x~3m exactly dvisible A (:" LS P(x)=4x-Tx%+6x-3m
by x+2)
(b) Find the value of ' and 'm’ for which of the following Jitw e ed §m ot ()
expression will become perfect square 2l By
49x*-70x3+109x%+ fx -m 49x*-70x3+109x%+ fx—m
(@) Solvefor x |X+2|-3=5-|x+2| _ér}”.:;d’(lx+2 [=3=5-|x+2]|oit- () -8
(b) Construct the triangle ABC. Draw the bisectors of y é‘r ot Lupls Lt &2k ABC e (L)
its angles and verify their concurrency: é Qﬁ J 2_34,5:7 'd
mE=4.20m, mﬁE=6cm, mCA =5.2cm
Prove that any point on the right bisector of a line segment wr ot ¢ AL 13 5 i BN S Eer 9
is equidistant from its end points. L Lol Us e £ 15 o8 G
OR b
Prove that triangles on equal bases and of equal altitudes L et & o 5 f zek
are equal in area. _L(u)f Ll S 2o s 4z
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4?

¢
i

; ~
s
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Itz e e ut Uil & i;a/ Ldv sy J¥diz HLEDSIC B Acliz Kl Ly o

Kor v 4l I 0l ..«Jr‘JL./4 Sk L A./4 S Usits ol el 5 Lo bl fl. :'/n/b,.dv‘
1- 1- Symbol used for 'approximate’ is -4—(5% Jet v‘U‘.._._&“/ !ﬁf’

= (D) = (C) + (B) (A

2- A paralielogram has right angles. sl AF L S LT 2
3 (D) 2 (0 1 (B) 0 A

3 HCF of x>-5x+6 and x?—x—6 is e ¥ X2 56 4 xP-5x46 -3
x=2 (D) x2-4 (©) X+2 (B) x~3 (A
) : | . 6| .

4- i : = ( then x is equal to _c,/,!,:/é i, Jx v 0 = Ji -4

X ‘ | U X

-9 (D) 6 (C) / -6 (B) 9 M

5- One angle on the base of an isosceles triangle is 30°, // - 30° ool LTy b L 2 B IS 5
its vertical angle is . /’/ s )y J Lsli gl Lu‘l
120° (D) 90° (C) 60° (B) 30° (A)

6- A line segment has end points. “Udre s Lb’—’*". i -6

5 (D) 3 B 2 (A)

7- A triangle having all sides different is called . -,aaﬂf U A Ll rVL el 7
scalene (s i/ (B) isosceles  AUIGLE (A)
none of these U d,fc.,u.‘.' I (D) equilateral { usii$l3 (C)

8- (w/a_+ \/I;)(f— \/1;) is equal to el (\/;+ «/E)(\/——\/l;) -8
| a+b (D) a-b> (B) a?+b> (A)

9- x=0 is the solution of the inequality wer ¥ whblaf X=0 -9
Xx=2< 0 (D) 3x45 <0 (C) Xx+2<0 (B x>0 (A)

10- has no unit. G 761 L;[J__ -10
perimeter 4Li (D) rea . (C) length du (B) fatio <’ (A)

- Factors of at—4bt are
(a—b)(a+b)a’-4b?) ®)
(a-2H)@2+2b%) (D)

12- The value of Pl
e value o Iog(q) is :

s

log’p+log’q (D) logq—logp (g logp -

13- Point (-3, -3) liesin quadrant.
II (D) I (C)
14- The conjugate of 5+ 47 is
5+4i (D) 5-4i (C)

15- Area of given figure is

wo g

5¢m
25¢cm? (D) 10em?  (C)
11-4{1V)-122-101000

ALl gt gt -
(a~b)@+b)@%+4b2) *)
@%-2bH)@%+2b%) (©)

=i log (g) -12

-5
To logp
24 (B) logq
sl B Ly (-3,-3) & .13
II1 (B) IV (A
<« AN S+4i 14
-5-4i (B) —5+4i (A
e 2EFE 18
20cm?  (B) 5cm? (A)
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Marks: 60° Subjective de 60 : Ut
x G @ AN 8 E Sty () e Uy o ac G Ui o 1 2
Cv T~ 2-22 Section I Jil
2- Write short answers to any SIX questions: (2x6=12) ..cf: {]’u&lf/"'ﬁumr(S)iaéf 2
i- Define singular matrix and give example. e Ll 2y /’J At i
" 3| -
ii- Find product [1 2][ 4} _ -é(}”.,ﬁ‘)’b ¥ [1 2][ 4} i
i Simplity  (x3)2 + %3 | : EA (BPaxd i
iv- Simplify (2 —3i)(3—2i) and write answer o 4 (2-30)(3-2i) -iv
in a+ib form. ..2‘.7‘,*1(16 a+ib
v- Calculate logg xlog, 25 o gl § logg xlogy 25 -V
vi- Find the value of .a if logg =0.5 zf(}’*.»’ Jain log =05 i

vii- Define ratioria| expreSéion __,,/JJ Pt i

viii- Simplify 5\/243x5 10,15 . ( ZAS w/243x5y’°z15 vil

ix- Use the remainder theorem to find the remainder when. s g Stend dil i
3x3-10x2+13x —6 is divided by (x-2) LV k-2 3x3210x2+13x -6
3- Write short answers to any SIX questions:  (2x6= 12) -cf{iuwf""évmr(s); c,Jf -3
i Find HCF of _ Eph P il¥ 10235 853795, 187y i
102 xy2z , 85 x%yz, 187 xyz’ : _
ii- Solve the equation Zm =5 -éd’f 2Jt+4 =5 ehbls i
ii- Solve thie inoquality: Lx =€ 2N . ' EFf lx 20l
. 2 3 3 3 3
iv- Whether (2., 5) lies on the line 2x-y+1=0 or not. L c_dnu 2x-y+1=0 (2,5 HY v
v- Define cartesian plane i’J/ S 65K v
vi- Find the distance between the paxr of points -’cff()“"JﬂG uL/wL B(3,, -6) ¢ cA@2,-8) b6 _vi
A(2, -6), B(3, -6)
vii- Find the mid-point of the line segment joining the (b;b’ L ¢.IJ-:( A(-4,9) » B(~4, - 3)1;&3 ~vii
pairofpoints  A(-4,9)and B(-4,-3) ' ér}w,f dvj,

sl U S i
(7 APQR= AABC i _ix
-’.Z:rpj"ﬁﬁf d/ y s x

viii- Define congruent triangles.
ix- f APQR = A ABC | then find Q

the un-knowns x and y

4- Write short answers to any SIX questions: - (2x6=12) -é ;/’VW/"‘éumr(s)i c,éf -4
i- In congruent triangles LMO and LNO . 'm' sl ' U2 LNO s LMO ulb «ﬂr«fd; -
find 'x' and 'm’ ' ,érPJIM e
2x+6 N 18
M ] N
“m 0 12
ii- 3cm, 4 cm and 7 cm are not the lengths of JCML/_VV o”r 7cmsl4cme3cm - i
atriangle. Give reason. Bl ik 4 u"ubu
iii- Define similar triangles. » S Sutl & ; i

(ik}/;)



v~

V-

vi-

vii-

viii-

ix- Constructa A XYZ in which

,:25")1”‘,.:;«4.{‘ J % .V

Find the value of 'x’'

£
[2V% 23255 N A

x s
Verify that a=9cm, b=12cm and ¢=15cm c=15cm . b=12cm ca=9cm JZEJHF v
are sides of a right triangle. - UG § ol sl 3126
Define interior of a triangle. S Lale i
Find the area: ZAS D TR

§

e

16em

EWFE e leds i
SSEk AXYZ i

Define circumcentre of the triangle.

m?i = 7.6cm, mXY = 6.1cm, mZX = 90°
(A aLszpn /28 L) Sectionll (n 2o

(a)" Solve system of linear equations by Cramer's rule: S ey LS iR () 8
2x+ y =3 . . o . 2x+y =3
6x + 5y =1 | Bx+ 5y =1
_2 _L | _2 1
©) simpiy 24 262 3 ey G5 O
Jase ' Jase)™
(a) Use Iogar’ith.m.toia-ﬁﬁd :vaf\lr'\_ e’ : ¥ é(}“' :,u,",' =y s (;5@’3" ) -8
(8.97)° x (3.95)° \ (8.97)°x (3.95)°
) If x=2+43, thgg-fnnqvalueof | -(x__l)?- ) b | i mmBadS A (s
1 1 2 . X X . .

x—--)-(» and (x—-;) . -gr)""&{:"tf
(a) Factorize cubic polynomial by factor theorem: 25.’: 4 f J 2 4}/ /.?'/ G uf & dh J $ ; 2 O I
‘ x> x2-10x +8 k x3-x%-10x +8
(b) Use division method to find the square root of : Bt O ﬁﬁ 25 K5t (L)

9x*-6x3+7x% ~2x +1 9x4-6x>+7x2 —2x +1

(@) Solve the equation and check for extraneous solution, :édb'z S Bt & Sffane () -8

ifany 32-t = 32t-28 -t =32t-28
(b) Construct:the triangle ABC and draw the bisectors g u’, ot LZgals Z sl & ABC & (L)

of its angles:.

mAB = 4.6 cm, mBC = Scm, mCA = 5.1cm
Prove that any point on the right bisector of a line I Ehs £ L 13 ot 5 LN Sk 9
segment is equidiétant from its end points. B Sl Sstn = sy L3 283 L5 s
OR L '

Prove that paralielograms on the same base and Ll 1306 2 JE1 Lt $o13 By Lok S M S
between the same parallel lines (or of the same ..Ju.ﬂ e o0 (U e A Egt Vs 51; o) Lb(j@)l?

altitude) are equal in area.

11-122-101000



